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1

General Marking Notes

General Marking Principles

21

Please note that it is not possible to list all acceptable alternatives in the Detailed Mark Scheme
provided on the following pages. You will need to consider all alternative answers and
unexpected approaches in candidates' scripts, make a decision on whether they communicate
the required elements, in consultation with the Principal Examiner if necessary, and award
marks accordingly.

2.2

Crossing out:

(a) If a candidate changes his/her mind over an answer and crosses out an attempt, award a
mark if the final attempt is correct.

(b) If a candidate crosses out an answer to a whole question but makes no second attempt at it,
mark the crossed out work.

2.3

Annotation used in marking:

(a) BOD = Benefit of the Doubt and is used to indicate material considered by the Examiner
and judged to be more correct than incorrect: the benefit of the doubt is given to the
candidate and the mark is awarded.

(b) NBOD = No Benefit of the Doubt and is used to indicate material considered by the
Examiner and judged to be more incorrect than correct: the benefit of the doubt is not given
to the candidate and the mark is not awarded.

(c) caret = to indicate where something which is key to the response is missing.

24

No response and '0' marks
There is a NR (No Response) option in RM Assessor.

Award NR (No Response):
o If there is nothing written at all in the answer space or

o If there is only a comment which does not in any way relate to the question being asked (e.g.
‘can’t do' or 'don’t know') or

o If there is only a mark which isn’t an attempt at the question (e.g. a dash, a question mark).

Award O:

o If there is any attempt that earns no credit. This could, for example, include the candidate
copying all or some of the question, or any working that does not earn any marks, whether
crossed out or not.
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Section 1
1

Accept Reject

Minor character errors in transcription (missing

or additional strokes) provided that the

meaning is clear and that a different character

is not created.

Minor omissions in the body of the phrase.

(A) 7 & /% (1]

(B) 1 (1]

(C) LA [1]

(D) it [1]

(E) & =& BLETE (1]

Total [5]
2

Accept Reject

(A) F#, BTFEhHE, thit, REARBAMEE | T, BHTFHTFTHFE. ik, (1]

AR LB AMER
W T FAE R, ik, CRARBRAMNER
FM, wTHTEOHTRE, ki,

AR MARAAN 2 5 E B

(B) & RFMALT, A EL

WRFMARRLT, HE2SHAELL

W RFMARLT, RitaomEdl

(2]

(C) FE A A g F L4k 5 SAE - A T Fhush

T I R A G F IR B SAE R B T e F
Wtk

R AT F SEAA LA T T | [2]

X

):17

Total

[3]
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Words / phrases which are underlined indicate key ideas which are either needed in the response
(Accept column) or invalidate it (Refuse column)

Lifting = a whole sentence taken from the text will usually invalidate an answer unless further

original explanation is offered.

If (and only if) all the words in the reject column appear in the answer unchanged, reject as a ‘lift’.
Annotate this using the LM stamp (Lifted Material).

It is not uncommon for candidates to ‘lift’ and then go on to rephrase acceptably, in which case
indicate the lift using LM stamp but reward the rephrase.

3 (a) AHLFIRAMERZAMNER B RATL?

Accept

Reject

(A) & FE 8T

W T e A’
The long lift should be rejected:

[F4, @FEHFR ik, Ak
A EE, ]

[1]

(B) W T € a9kt

The long lift should be rejected:

[, WFEHFE, i, ARAL
A EE, |

[1]

Total

[2]

© Cambridge International Examinations 2015




Page 5 Mark Scheme Syllabus | Paper
Cambridge International AS Level — October/November 2015 8681 21
(b) ATREFALT, FEAMTHIURMEPTEL?
Accept Reject
(A) FALRILT 89 BH4% The long lift should be rejected: [1]
(A T eRLEBFFMN, Fi| [1]

(B) FAUR A f g 6 4%

(C) F ALk F — Bt ) A ofy 6 BH1%

ART, BAECMEL, FELFLEY
#, REFAAIHE; —giEFas |

FXvf, RATERUA—THERE

(c)

o L A 7 vy 69 B 1

(D) RRANNF e 2 1R EREH, TILAAGF I, AR .
AXBTHFIAEE, |

Total (41

RYE R BLE, AL FASEE A FART R A7

Accept Reject

(A) R— AL ETEHG “ABR / The long lift should be rejected: 1]

AARE [EFh4EiE R, HAVAE—NELERE

B) A A CENES GEELwaw) / |0 ABE T SRERAGETLRA ) (1)
HMATAE, |

(C) Ligut b T RA A (atia Led g The long lift should be rejected: [1]

e [P0 LR, BT AR — I A

LR LT A — AR BEEE,

Total 31
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(d) *FFAERB, FHAT A AL?

Accept

Reject

(A) B fl /MK A4S B

(B) 4% £ %

The long lift should be rejected:

[5 4K, BT FAUE A 508 425,
S & A FALBATIR R AN, |

[1]

[1]

(C)F st/ LR (FHH)

The long lift should be rejected:

[1]

[% 5, 4NERAFERERTH, |
Total [3]
(€) *FHAMMRHM, B AL @M FRT Hh?
Accept Reject
(A) 151 % F £ 52 5 A @t d sk | The long lift should be rejected: [1]
(B) Eah ik /4 T e Sz zpagny | (A, LPEMINLLRTH S 52
] sz 5 A @@ ANy, FarTe |
N SAoiz o 6 utIE], 3 FHUAAE 0915 &6
(C) K& a9 f 7y /D T F i 69 HLt RH, LKKIARY T KM, | [1]
Total [3]
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Quality of Language — Accuracy (Questions 3, 4 and 5) [5]
5 Very good

Consistently accurate. Only very few errors of minor significance. Accurate use of more complex
structures (verb forms, tenses, prepositions, word order).

4 Good
Higher incidence of error than above, but clearly has a sound grasp of the grammatical elements in
spite of lapses. Some capacity to use accurately more complex structures.

3 Sound
Fair level of accuracy. Common tenses and regular verbs mostly correctly formed. Some problems
in forming correct agreement of adjectives. Difficulty with irregular verbs, use of prepositions.

2 Below average
Persistent errors in tense and verb forms. Prepositions frequently incorrect. Recurrent errors in
agreement of adjectives.

0-1 Poor
Little or no evidence of grammatical awareness. Most constructions incomplete or incorrect.
Consistent and repeated error.

Additional marking guidance for Quality of Language — Questions 3 and 4:

The five marks available for Quality of Language are awarded globally for the whole performance on
each set of answers.

A concise answer, containing all mark-bearing components for Content is scored on the full range of
marks for language, i.e. length does not determine the Quality of Language mark.

Identify the answer(s) scoring O for Content in the whole set of answers. Then add together the
number of Content marks available for each of these questions and reduce the Quality of Language
mark according to the following table:

Total Content marks available on questions Reduce Quality of Language mark by:
where a candidate scores 0

2-3 1

4-5 2

6-7 3

8-14 4

15 5

Note: A minimum of one mark for Quality of Language should be awarded if there are any Content
marks at all (i.e. 0 Quality of Language marks only if 0 Content marks).
[Total: 20]
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(a) TN F A A LAFL?
Accept Reject

(b)

(A) 5185 REANTE 2/ 5 R R 2

The long lift should be rejected:

[1]

(B) (£ 2 T)FKH [ RKAZTF EF 89 A B 6930 2R HF IR [1]
A, BEEWHAT, FHEAFRFE LT
Ao |

Total [2]

BANFRRAET @, FITH Y ERAZAER?

Accept Reject

(A) 5 % W47 A BT A /458 T 5 A

) 3E 5

The long lift should be rejected:

[FAEG AL T AGAZIIER, |

[Pp A% 2 i 42 51 69 69 IR, AR AL R B L
HERAMNER, |

[1]

(B) %+ Tt 1 by 84 ) 4,
T AR A AR 5 AR L 6 A/
WA N & 89 &V F X g1z

The long lift should be rejected:

[)ﬁ_ﬁ: MW w89 F FoRGE, REEZART
A EIRAEATE AR L6583, ¥ aiE, |

[1]

(C) * T EAE s ey 89 # 0 4,
AR BIMANE R F % 9IRR/
TR (BBshaesF rHe) 4B

The long lift should be rejected:

(2t B HEAE S 18 & 4, AT A B A
MERRSHMA, ¥ REXE. |

[1]

Total

[3]
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(c)

A
<2

AL F Y FAAE R FAIN etk Z

Accept

Reject

(A) 22 R B P LA,
A INIR B AT 6 2 A
BERRFRALR, 2

2| B /

;L
payid

Ak
%4

Rz iR

The long lift should be rejected:

[F V&7 ERRPRIIAL L IR FIEA

FA,  FIRR I A AL B B, |

[1]

(B) 3 FHLM % L6 F 4 it 4T F

(C) o5 T 45 /MRS B AR fE W L 893

The long lift should be rejected:

[ReAxt R % b6 0 AT E,  mAA8

[1]

[1]

(d)

4 A X R, ARE SR 1R
& ]
Total [3]
R FHUE R 2 S5 R0 J F AP
Accept Reject
(A) MIrer, IARGFHAA, 485 % The long lift should be rejected: [1
A b .
ERART [l A FHRIES, BART BT
A EHNmeE AR RTROIMA |
(B) mumgnt, %3\ # N o s The long lift should be rejected: [1]
*fé“ = o : %2 E ) > 7
[EHRS FVHEATHZE, RAFIRAEH
Z R Ik, |
Total [2]
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(e)

(f)

45 M FAURE A 6 AR 2 T 8 0

Accept

Reject

INEZ Y9 T T NET M- Y% 3
L) ;

(B) A& #rh (LT RAFIAR)

The long lift should be rejected:

[ FIRE ARk, BEIRFILF P,

[1]

KL T ARG, A 690 B4R [1]

o]
Total [2]
KR % EAEH B T 8 o3t F Ly L AL R?
Accept Reject
(A) % atia 53T/ —Ae The long lift should be [1]
rejected:
% BTk b g A ) 2 % BTk [1]
(B) 2% 33T KAL) FALEG & A F AL % R T W RK, 2550
(C) % 51 $H T4k X B KAt F 4 BF, ZHET AR [1]
AFIe R, ZikE
FANEAR R A At F 4,
M IR Y TR FALE A AR
#o |
Total [3]
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Quality of Language — Accuracy (Questions 3, 4 and 5) [5]
5 Very good

Consistently accurate. Only very few errors of minor significance. Accurate use of more complex
structures (verb forms, tenses, prepositions, word order).

4 Good
Higher incidence of error than above, but clearly has a sound grasp of the grammatical elements in
spite of lapses. Some capacity to use accurately more complex structures.

3 Sound
Fair level of accuracy. Common tenses and regular verbs mostly correctly formed. Some problems
in forming correct agreement of adjectives. Difficulty with irregular verbs, use of prepositions.

2 Below average
Persistent errors in tense and verb forms. Prepositions frequently incorrect. Recurrent errors in
agreement of adjectives.

0-1 Poor
Little or no evidence of grammatical awareness. Most constructions incomplete or incorrect.
Consistent and repeated error.

Additional marking guidance for Quality of Language — Questions 3 and 4:

The five marks available for Quality of Language are awarded globally for the whole performance on
each set of answers.

A concise answer, containing all mark-bearing components for Content is scored on the full range of
marks for language, i.e. length does not determine the Quality of Language mark.

Identify the answer(s) scoring O for Content in the whole set of answers. Then add together the
number of Content marks available for each of these questions and reduce the Quality of Language
mark according to the following table:

Total Content marks available on questions Reduce Quality of Language mark by:
where a candidate scores 0

2-3 1

4-5 2

6-7 3

8-14 4

15 5

Note: A minimum of one mark for Quality of Language should be awarded if there are any Content
marks at all (i.e. 0 Quality of Language marks only if 0 Content marks).

[Total: 20]
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5

Length of 5(a) + 5(b) (Summary and Personal Response)

Writing within the maximum length is part of the task, and candidates who remain within the limit (200
characters in total) deserve credit.

Insert the vertical wavy line after the 240™ character to show the end of the response to be ’_|
marked. )

Content marks: Summary [10]

The summary could include the following points (award 1 mark for each point covered up to a
maximum of 10 points):

[Text 1]

A REBIFFI/ LB T “FAAURBE”

B @i/ AR &R

C EREFH/F DGR

D BEKASH

E k5 AdmAld@imese )

F &4 7T iEsh et

G AT Kk
[Text 2]

H Z&uatzl A FHRe)

| BEHAASAZRGIES/F BT Fo g 4L FHo b9 AT A

J  UIRARR AR RT/ e B3

K ¥ RAEXB/RZLEZMNA

FATIRKE, ZHLES

|—
&

M F R F AR I e

N FHaEF (Fo) R/ &R KR, ERETEL/ TAINE, Hrhor
3
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Content marks: Response to the Text [5]

Marked like a mini-essay according to the variety and interest of the opinions and views expressed,
the response to the original text stimulus and the ability to express a personal point of view.

5 Very good
Varied and interesting ideas, showing an element of flair and imagination, a capacity to express
a personal point of view.

4 Good
Not the flair and imagination of the best candidates, but work still shows an ability to express a
range of ideas, maintain interest and respond to the issues raised.

3 Sound

A fair level of interest and ideas. May concentrate on a single issue, but there is still a response
to ideas in the text.

2 Below average
Limited range of ideas; rather humdrum. May disregard the element of response to the text, and
write a largely unrelated free-composition.

0-1 Poor
Few ideas to offer on the theme. Banal and pedestrian. No element of personal response to the
text. Repeated error.

Quality of Language — Accuracy (Questions 3, 4 and 5) [5]

5 Very good
Consistently accurate. Only very few errors of minor significance. Accurate use of more
complex structures (verb forms, tenses, prepositions, word order).

4 Good
Higher incidence of error than above, but clearly has a sound grasp of the grammatical
elements in spite of lapses. Some capacity to use accurately more complex structures.

3 Sound
Fair level of accuracy. Common tenses and regular verbs mostly correctly formed. Some
problems in forming correct agreement of adjectives. Difficulty with irregular verbs, use of
prepositions.

2 Below average
Persistent errors in tense and verb forms. Prepositions frequently incorrect. Recurrent errors in
agreement of adjectives.

0-1 Poor
Little or no evidence of grammatical awareness. Most constructions incomplete or incorrect.
Consistent and repeated error.

[Total: 20]
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